Colorimetric transformation i =1
¢t =cr =ac® with a=1,00;b=0,75
rgb —> olv* rgm OlV*—> olv*1

feul0-4a



Colorimetric transformation i =1
=c* =ac®with a=1,00;b=0,75
rgb —> olv* rgm OlV*—> olv*1

feul0-4a



Colorimetric transformation i =1
=c* =ac®with a=1,00;b=0,75
rgb —> olv* rgm OlV*—> olv*1

feul0-4a



Colorimetric transformation i =1
=c* =ac®with a=1,00;b=0,75
rgb —> olv* rgm OlV*—> olv*1

feul0-4a



Colorimetric transformation i =1
cr =cr =ac®with a=1,00;b=0,75
rgb —> olv* rgm OlV*—> olv*1

feul0-4a



Colorimetric transformation i =1
¢t =cr =ac® with a=1,00;b=0,75
rgb —> olv* rgm OlV*—> olv*1

feul0-4a



